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1. Thebasein the term54 is

(iy -4 (i) 3 (i) -5 (iv) 4 (v) 5

2. Theexponentin the term56 is

(i) -5 (i) 5 (ii) 6 (iv) 3 (v) -6

3. Thepowerin the term 6%is

(i) 4 (ii) 6 (i) -4 (iv) -6 (v) 1

6

)is

~N o

4. Thebasein the term(

(i) (f) (i) -6 (iii) 6 (iv) 8 (v) °
(=) (i iii v) 5 ) g

4

9
5. Theexponentin the term ( 2 ) is

(i) 2 (ii) (-_9) (iii) -4 (iv) 4 (v) ke
4 4

6

. 9, .
6. Thepowerin the term ( 5 ) is

(i) 3 (i) 2 (iii) 6 (iv) (f) (v) -6
i i) < (i v) () () -

7. Thebasein the term52 is

(i) -5 (ii) i (iii) 2 (iv) -2 (v) 5

(3)

8. Theexponentin the term, is

(i) 2 (i) g (iii) -2 (iv) (-_4) (V)
3 3



9. Thepowerin the term510 is

(i) 7 (ii) 10 (iii) -5 (iv) -10 (v) 5

(5/4)

10. Thebasein the term(i) is

M () G () i) S v 2w
| 4 I > 111 > v 5 Vv

(7/3)

11. Theexponentin the term (:) is

M 2 iy ) i (v LW
| 8 I 8 111 3 v 3 Vv

(6/5)

12. Thepowerin the term (:) is

M 2w ) i ) v 2w
5 5 3 3

7
13. (-4%x-7) =

M) (47 %18 i) ) x4 i) 47 %97 (v) (4 xn7 W) 4 %78

5
14. (6Xx2x%x-4) =

(i) 62x2%x(-4)® (i) 62 x2%x(-4)% (i) 6°x4°2x(-1)° (iv) 6°x2°%(-4)° (v) 6°x(-1)°x(-6)>

15. (3 x2) =

16. (-2 %X-6X%X2) =



VAN S
T4 g B
(7/2) (7/2) (7/2) (7/2) (7/2)
-3 7 -3 9 3
02 <) w2 <) ()
(7/2) (7/4)
3 7
w () ()
6 -3 -2 573
18-((5)><(4)><1) =
(5/3) (5/3) () (5/3) (5/3)
. (-6 -3 3 -6 -5
W (3) *(5) x @) x(5) X
(5/3) 5 (5/3)
6 -3 6 -3
) (T) () x2° wm (7)) x()x
19. (-4)3 =
(12 3 (-4)3 a)? (-4)3
(i) (i) (iii) (iv) (v)
1 1 (-1) 1 4
5
7
20 (-6) =
45 ;-5 ;-5 ;-6 -4
(i) (i) - (iii) (iv) - (v)
37 8 67 6 67
(5/4)
9
21 (5) =
(2) (3) (3) (3) (3)
(-9) (-9) (-9) (-9) (-9)
(i) (ii) (iii) (iv)
() () (3) (3) (3)
5 5 2 5 8



2. () =

@ @ @@

7 7 7 7 (73)

(i) (ii) (iii) (iv) (v) /

2 @ & 3

3 3 3 5 1
23. (-5)° =

5 6 6 6 7

24. 579 =

25. (-2) 7 =
7 6 7 7 8
(i) (ii) i (2) @ (Z) W
b (5) @ (5) @ (5) v (5) » ()
(-8/5)
9
26. (2) =
2 (8/5) (6/5) (8/5) (10/7)
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28. =
7
8
(5)
10 -9 -8 -9
8 8 8 6
M (z) @ (g) G () () w27
()
(-9)
29. =
(:2)
(-9)
(38) (3) (33) (35)
M (-9 @ (o) ) (g (W) (12
(5/4)
-9
(<)
30. =
(-3/4)
9
()
3 2 2
. -9 . -11 -9 . -7 -9
M (5) a () G (o) () m (5
31, [(-2)°]%=
M 1 G 2720 i) 420 (v (210 v 22t
32. [77%)% =

() 1078 (i) 478 i) 778 v) 777 (v) 779



33.

34.

35

36.

[(-4)5773/5 =

-2

M) 42 (i) ™% i) 973 (v (73 W (273

-6 2 B
'[(5)] B

(5) o(5) @ (F) @ () w(3)
3 52
8
[(7)] B
-8 (-29/4) (-15/2) (-15/2) (-15/2)
. 8 (8 Lo 10 . 8 6
o) @) @) wm @) w ()
(-4/5) >
-5 _
[(4) ]_
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39. The multiplicative inverse of 8'6 is

1
40. The multiplicative inverse of ( 3 ) is

1 -
(i) (-8) (i) 1 (i) 0 (v) (-8)° (v) 8°

. -8 .. .'1
(i) 3 (i) 1 (iii) (3

6

8

) (V) 0 () (-;)

41. Which of the following statements are true?

42. -

43. -

44.

45.

46.

47.

2 («™) " = («7)"

b) a = (a=0)
n

) (Xm) _ X(m+n)

m

X m
d) - = XxXn

n

X
e) a. xm = am. m
f) am.an = am’7
(i) {a,b} (ii) {d,b} (iii) {c,b,a} (iv) {c,a} (v)
12 =
(i) o (ii) -1 (iii) 1 (iv) undefined (v) 0O
17 =
(i) o (i) 1 (iii) -1 (iv) 0 (v) undefined
20=
(i) undefined (ii) 1 (iii) 0 (iv) -1 (v) o
00=
(i) -1 (ii) 1 (iii) o (iv) undefined (v) O
10
(i) o (ii) -1 (iii) undefined (iv) 1 (v) O
06=
(i) o (ii) undefined (iii) -1 (iv) 1 (v) O

{e,f,a}



(-) (“) ; (l“) ] I

49. Find the reciprocal of 96

(iv) >
9
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1) (v) 2) (iii) 3) (i) 4) (iv) 5) (iv) 6) (iii)
7) (v) 8) (v) 9) (ii) 10) (iv) 11) (iv) 12) (i)
13) (iv) 14) (iv) 15) (i) 16) (ii) 17) (i) 18) (i)
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25) (iv) 26) (ii) 27) (iii) 28) (ii) 29) (ii) 30) (v)
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